IECSRGBu4 standard lightness*
I* Ync_YW nc— =100,

I |EcsraBua=50 (Y/Yy) YL2(Y, =18, Y, /100<Y<=Y, )
I (3,6)=13 1* ,(18)=50,1* 1y(90)=191

log[I*/I* J=0, m,=0,83

1
1Y,=18

V=9

L A=36

IECSRGBu4
tristimulus value difference

Yoc=Yw nc=100,
I* lEcsroBua=50 (YY) 2(Y,=18, ¥,/ 100Y<=Y, )
log(dY) = (1/1,2) 10g[L,2(,/50)] + [1~(1/1,2)] log¥)

* =50, dY,=2,40 dY,/Y,
log(dY)=2,4Q m.=0.*= = = ~

application
range
Y,=18
) Yw=90

log (AY/Y) IECSRGBu4
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
I* lEcsroBua=50 (YY) 2(Y,=18, Y,/ 100Y<=Y, )
log(dY/Y)= log[1,2(Y,/50)] - (1/1,2) log{/Y,)
= (1/1,2) log[1,2¢,/50)] - (1/1,2) logy)

N\ application
N range

* =50, dY,=2,4Q dY /Y O 1333

Y,=18
Vw90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

IECSRGBu4
tristimulus value contrast
Yoc=Yw - nc=100,
I* lEcsroBua=50 (YY) /M 2(Y,=18, ¥,/ 100Y<=Y, )
log(Y/dY)= - log[1,2{Y,/50)] + (1/1,2) Iog({/Y‘)
=-(1/1,2) log[1,2{,/50)] + (1/1 2) logY)
* =50, dY,;=2,4Q Y, /dY,=7

application
range

1Y,=18
5 log

LN
\

Yn=3.6

i/l IECSRGBu4 relative standard lightness*/I* ,

1%/1% u Yoc=Yw nc=100,

I lEcsroBua=50 (YY) /- 2(Y, =18, Y, 100Y<=Y,o)
I*\(3,6)=13,1* ,(18)=50,I* ,/(90)=191

log[l*/I* ,]=0, m,=0,83
L* =49, I* ;=50
application
range
1y,=18
Yy =90

Yn=3.6

log(A Y/AY W)
AYIAY,

IECSRGBuU4 relative
tristimulus value difference

YocmYw  nc=100,
I lEcsroBua=50 (YY) /- 2(Y, =18, Y, 100Y<=Y,o)
log(dY/dY,) = [1-(1/1,2)] loglf/Y,)

< =50, dY,=2,4Q dY,/Y,

log[(YY(dY),]=0 = <mo ~
1 application
1 range
y,=18

Yy =90

Y236
log [(AY/Y) I (AYIY)] IECSRGBu4 relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
I lEcsraBus=50 (Y/Y) /- 2(Y, =18, Y, 100Y<=Y, o)
log[(dY/Y)/(dY1Y)y] =~ (1/1,2) log¥/Y,,)

Ny
log[(dY/YY(dY/Y),]=0, m/=-0,83
I, =50, dY,=2,4Q dY,/Y,=0,1333 |
1y =18
Yy=90

Yn=3.6
log [(Y/AY) I (YIAY),] IECSRGBuA4 relative
tistimulus value contrast
CrlCry=(YIAV)(YIAY)y v 2y ™ 2100,

nc_l
I lEcsraBua=50 (Y/Y) - 2(Y, =18, Y,/ 100Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/1,2) logiY/Y,)

application
1 range

1y =18
Yw=90

YN=3.6




